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&D<<<5D 4 MF> =4EF>OM4O =4E>4>4 4?O 65=M<=. 
�><?4>F=O= <  <<=<4FND=O= ?D<5>D, ?> 6=5L=5<G 6<4G 
FD<<<5D =4?><<=45F DGG>G 4?O ?<EL<4.  

"   �>76>?O5F 5575>?57=5==> G44?<FL =565?4F5?L=O5 
6>?>E><.  
"   �>6=> <E?>?L7>64FL 4?O 5D>65=, 65DE=5= 7G5O, ?<=<< 
5<><=< <?< 4DG7<E GG4EF>>6 F5?4. 
"   �G5=L G4>55= 6 <E?>?L7>64=<<, ?>76>?O5F ?D>65EF< 
?D>F54GDG >>DD5>F<< 5OEFD>, ?57>> < 5575>?57=5==>. 
"   �D54=47=4G5= 4?O ?D<44=<O D>D<O, ?>4D46=<64=<O < 
G44?5=<O 6>?>E =4 ?<F5 < F5?5.  
"   % MF<< <<=<-?D<5>DG<>>< 44<O 6E5744 E<>7GF E 
6OE>>>EG4>65EF65==>= F>G=>EFLN ED>D<<D>64FL 
D<EG=>> 5D>65= 74 ?4DG <<=GF.  
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,47 1. %=<<<F5 >DOL>G E ?D<5>D4. 

,47 2. �>?NG<F5 ?D<5>D,  
            ?>4=O6 >=>?>G 6>?NG5=<O  
            =465DE, 4> ?>7<F<< «ON». 
,47 3. '44?<F5 =565?4F5?L=O5  
            6>?>EO =4 F5?5 ?D>F<6  
            D>EF4 6>?>E. 
,47 4. �D<>D5?<F5 ?576<5 D4EG5E>G- 

            =4E44>G 4?O ?D<44=<O  
            6>?>E4< =G6=>= 4?<=O. 
,47 5. �O>?NG<F5 ?D<5>D,  
            >?GEF<6 >=>?>G 6>?NG5=<O  
            4> ?>7<F<< «OFF». 
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E 46G<O GEF4=>6>4<< 4?<=O 

�4E44>4 - ?576<5 

&D<<<5D ?D5>D4E=> ?>4E>4<F 

4?O >>DD5>F<< 5D>65= 

'44?O5F 6>?>E>< =44 7G5>=  
4?O E>744=<O 7?44>>= >>6< 

�D<445F 7?44>>EFL >>65 =4 
?N5>< GG4EF>5 ?<F4 < L5< 
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" �OEFD>, 55D56=> < 5575>?57=5==> 
G44?O5F < ?>4D5745F 6>?>EO  

     557 D474D465=<O. 
" �454?L=> 4?O 5D>65=, 6>?>E  

=4 ?<F5, ?>4<OL>4E < 4DG7<E 
GG4EF>4E F5?4. 

" �><?4>F=O= < EF<?L=O= 4<74==,  
557 ?D>5?5< ?><5M45FEO 6 
>>E<5F<G>5. 

" � =45>D5 =4E44>4-D4EG5E>4  
< M5F>G>4 4?O >G<M5=<O. 

" $45>F45F >F 1-= 54F4D5=>< F<?4 ��� 
(6 >><??5>F =5 6E>4<F). 
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1. 'F>5O E45?4FL ?D>F5EE 5D<FLO ?D>M5,  
?D5464D<F5?L=> =4<>G<F5 6>?>EO F5??>= 6>4>= < 6OEGL<F5. 

2. �>E?5 5D<FLO =4=5E<F5 G6?46=ONM<= >D5<. 
3. �5 D5>><5=4G5FEO ?D>6>4<FL >>E<5F<G5E><5 ?D>F54GDO  
       ?>E?5 >5L<D=>7> G44?5=<O 6>?>E =4 ?<F5. 

1. �E?< ?D<5>D =5 <E?>?L7G5FEO 6 F5G5=<5 4?<F5?L=>7>  
       6D5<5=<, <76?5><F5 <7 =57> 54F4D5N. 
2. %D4=<F5 ?D<5>D 6 =54>EFG?=>< 4?O 45F5= <5EF5. 
3. �5 ?OF4=F5EL E4<>EF>OF5?L=> 6E>DOFL >>D?GE ?D<5>D4. 
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�4?DO65=<5 ?<F4=<O: DC 1.5 B., >F 54F4D5< (1 LF. E F<? ���),  
6 >><??5>F =5 6E>4<F. 
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�>E>64: 8 (495) 120 10 80 

$57<>=O $$: 8 800 500 95 94 

(76>=>> 55E??4F=O=) 
www.sozv.ru 


